BULLETIN OF MATHEMATICAL ANALYSIS AND APPLICATIONS ISSN: 1821-1291, URL: http://www.bmathaa.org Volume 3 Issue 1(2011), Pages 148-155

# ON MODULAR EQUATIONS AND LAMBERT SERIES FOR A CONTINUED FRACTION OF RAMANUJAN

### (COMMUNICATED BY FRANCISCO MARCELLAN)

### BHASKAR SRIVASTAVA

ABSTRACT. Modular equations and generalized Lambert series are given for theta functions  $G_1(q)$  and  $H_1(q)$ .

### 1. INTRODUCTION

In [6], we considered the continued fraction of Ramanujan defined by

$$C(q) = \frac{1}{1+} \frac{(1+q)}{1+} \frac{q^2}{1+} \frac{(q+q^3)}{1+} \frac{q^4}{1+\dots}, |q| < 1$$
(1.1)

$$=\frac{\sum_{n=0}^{\infty}\frac{q^{(n^2+n)/2}(-q;q)_n}{(q;q)_n}}{\sum_{n=0}^{\infty}\frac{q^{(n^2-n)/2}(-q;q)_n}{(q;q)_n}}$$
(1.2)

$$=\frac{(q;q^4)_{\infty}(q^3;q^4)_{\infty}}{(q^2;q^4)_{\infty}^2},$$
(1.3)

and we called it analogous to the famous celebrated Rogers-Ramanujan continued fraction R(q) defined by [1, p 9]:

$$R(q) = \frac{q^{1/5}}{1+} \frac{q}{1+} \frac{q^2}{1+\dots}, |q| < 1$$
(1.4)

$$=q^{1/5}\frac{(q;q^5)_{\infty}(q^4;q^5)_{\infty}}{(q^2;q^5)_{\infty}(q^3;q^5)_{\infty}}.$$
(1.5)

Considering the closed form of the continued fraction C(q), we define theta functions  $G_1(q)$ and  $H_1(q)$ . We prove two relations for these theta functions  $G_1(q)$  and  $H_1(q)$  and from these relations prove three modular equations. This is done in section 3.

<sup>2000</sup> Mathematics Subject Classification. 33D15.

 $Key\ words\ and\ phrases.\ q-hypergeometric series, Modular equations, Lambert series.$ 

<sup>©2011</sup> Universiteti i Prishtinës, Prishtinë, Kosovë.

Submitted August 30, 2010. Published December 12, 2010.

In section 4, we prove a generalized Lambert series and write number of generalized Lambert series for these  $G_1(q)$  and  $H_1(q)$  and for the continued fraction C(q)... Recall the following two identities of Slater [5, eq. 8 and 13]

$$\sum_{n=0}^{\infty} \frac{q^{(n^2+n)/2}(-q;q)_n}{(q;q)_n} = \frac{(-q;q)_\infty}{(q;q)_\infty} (q;q^4)_\infty (q^3;q^4)_\infty (q^4;q^4)_\infty$$
(1.6)

and

$$\sum_{n=0}^{\infty} \frac{q^{(n^2-n)/2}(-q;q)_n}{(q;q)_n} = \frac{(-q;q)_{\infty}}{(q;q)_{\infty}} \left[ (q;q^4)_{\infty} (q^3;q^4)_{\infty} (q^4;q^4)_{\infty} + (q^2;q^4)_{\infty}^2 (q^4;q^4)_{\infty} \right]$$
(1.7)

Writing them as

$$\frac{1}{G_1(q)} = \frac{(q;q)_\infty}{(-q;q)_\infty} \sum_{n=0}^\infty \frac{q^{(n^2+n)/2}(-q;q)_n}{(q;q)_n} = (q;q^4)_\infty (q^3;q^4)_\infty (q^4;q^4)_\infty$$
(1.8)

and

$$\frac{1}{H_1(q)} = \left[\frac{(q;q)_\infty}{(-q;q)_\infty} \sum_{n=0}^\infty \frac{q^{(n^2-n)/2}(-q;q)_n}{(q;q)_n} - (q;q^4)_\infty (q^3;q^4)_\infty (q^4;q^4)_\infty\right]$$
$$= (q^2;q^4)_\infty^2 (q^4;q^4)_\infty, \tag{1.9}$$

we have

$$C(q) = \frac{H_1(q)}{G_1(q)}.$$
(1.10)

### 2. Preliminaries

We will be using the following standard notations: If |q| < 1 and  $x \neq 0$ , then

$$j(x,q) = (x;q)_{\infty} (q/x;q)_{\infty} (q;q)_{\infty}.$$
 (2.1)

If m is a positive integer and a is an integer, then for  $m \ge 1$ 

$$J_{a,m} = j(q^a, q^m), (2.2)$$

$$J_{a,m} = j(-q^a, q^m), (2.3)$$

and

$$J_m = j(q^m, q^{3m}) = (q^m, q^m)_{\infty}.$$
(2.4)

The following identities follow easily from the above definitions:

$$j(q/x,q) = j(x,q),$$
 (2.5)

$$j(x^{-1},q) = -x^{-1}j(x,q),$$
(2.6)

$$j(x,q)j(-x,q) = J_{1,2}j(x^2,q^2),$$
(2.7)

x not integral power of q.

$$j(x,q) = \frac{J_1}{J_n^n} j(x,q^n) j(qx,q^n) \dots j(q^{n-1}x,q^n), n \ge 1.$$
(2.8)

We shall use the following standard q-hypergeometric notation: For  $|q^k| < 1$ ,

$$(a; q^k)_n = \prod_{m=1}^n (1 - aq^{(m-1)k}),$$
$$(a; q^k)_\infty = \prod_{m=1}^\infty (1 - aq^{(m-1)k}),$$
$$(a; q^k)_0 = 1.$$

Lastly, define

$$\chi(-q) = (q; q^2)_{\infty}.$$

Using the notation given in (2.1),

$$H_1(q) = \frac{1}{j(q^2, q^4)} \tag{2.9}$$

and

$$G_1(q) = \frac{1}{j(q, q^4)}.$$
(2.10)

3. Two Identities for  $G_1(q)$  and  $H_1(q)$ 

We shall prove the following two identities:

$$G_1^2(q)H_1(q^2) - H_1^2(q)G_1(q^2) = 2qj^2(q,q^8)G_1(q)H_1(q)G_1(q^2)H_1^2(q^2)$$
(3.1)

and

$$G_1^2(q)H_1(q^2) + H_1^2(q)G_1(q^2) = \frac{2(-q^4; q^4)_\infty^4 j^2(q^3, q^8)}{(-q; q)_\infty} G_1^2(q)G_1^3(q^2).$$
(3.2)

In proving the identities we shall use the following theorem of Hickerson [4, eq.(1.19), p. 644].

For  $0 < |q| < 1, x \neq 0, y \neq 0$ ,

$$j(-x,q)j(y,q) - j(x,q)j(-y,q) = 2xj(y/x,q^2)j(xyq,q^2).$$
(3.3)  
Proof of (3.1) and (3.2)

First we prove (3.1).

Replacing q by  $q^4$ , x by q and y by  $q^2$  in (3.3), we have

$$j(-q,q^4)j(q^2,q^4) - j(q,q^4)j(-q^2,q^4) = 2qj^2(q,q^8).$$
(3.4)  
both sides of (3.4) by \_\_\_\_\_\_ we obtain

Multiplying both sides of (3.4) by  $\frac{1}{j(q,q^4)j(q^2,q^4)j(q^2,q^8)j(q^4,q^8)}$ , we obtain

150

ON MODULAR EQUATIONS AND LAMBERT SERIES FOR A CONTINUED FRACTION OF RAMANUJAM1

$$\frac{j(-q,q^4)}{j(q,q^4)j(q^2,q^8)j(q^4,q^8)} - \frac{j(-q^2,q^4)}{j(q^2,q^4)j(q^2,q^8)j(q^4,q^8)} = \frac{2qj^2(q,q^8)}{j(q,q^4)j(q^2,q^4)j(q^2,q^8)j(q^4,q^8)}.$$
(3.5)

By using (2.9) and (2.10), (3.5) simplifies to

$$G_1^2(q)H_1(q^2) - H_1^2(q)G_1(q^2) = 2qj^2(q,q^8)G_1(q)H_1(q)G_1(q^2)H_1^2(q^2), \qquad (3.6)$$

which proves (3.1).

Now we prove (3.2). Replacing q by  $q^4$ , x by  $\frac{1}{q}$  and y by  $q^2$  in (3.3), we have

$$j(-q,q^4)j(q^2,q^4) + j(q,q^4)j(-q^2,q^4) = 2qj^2(q^3,q^8).$$
(3.7)

Multiplying both sides of (3.7) by  $\frac{1}{j(q,q^4)j(q^2,q^4)j(q^2,q^8)j(q^4,q^8)}$  and using (2.9) and (2.10), we have

$$G_1^2(q)H_1(q^2) + H_1^2(q)G_1(q^2) = \frac{2(-q^4;q^4)_\infty^4 j^2(q^3,q^8)}{(-q;q)_\infty} G_1^2(q)G_1^3(q^2),$$
(3.8)

which proves (3.2). Dividing (3.6) by (3.8)

$$B(q)\frac{G_1^2(q)H_1(q^2) - G_1(q^2)H_1^2(q)}{G_1^2(q)H_1(q^2) + G_1(q^2)H_1^2(q)} = C(q)C^2(q^2),$$
(3.9)

where

$$B(q) = \frac{(-q^4; q^4)_{\infty}^4 j^2(q^3, q^8)}{q(-q; q)_{\infty} j^2(q, q^8)}.$$
(3.10)

## 4. Applications

We now prove the following modular equations. Theorem 1 Let

$$u = C(q^2), v = C(q)$$

then

$$(i)B(q) = \frac{u - v^2}{u + v^2} = u^2 v, \qquad (4.1)$$

$$(ii)k\left(\frac{1-k/B(q)}{1+k/B(q)}\right)^2 = C^5(q), \tag{4.2}$$

where  $k = C(q)C^2(q^2)$ 

$$(iii)B(q)\frac{1}{u^2v} - \frac{1}{B(q)}uv^2 = \frac{\chi(-q^2)\chi^6(-q^4)}{q\chi^2(-q)}.$$
(4.3)

B(q) is as given in (3.10). Proof of (i)

Dividing the numerator and denominator of the left side of (3.9) by  $G_1^2(q)G_1(q^2)$ and applying (1.10), we have

$$B(q)\frac{C(q^2) - C^2(q)}{C(q^2) + C^2(q)} = C(q)C^2(q^2).$$

By the definition of u and v, we have

$$B(q)\frac{u-v^2}{u+v^2} = u^2 v,$$

which proves (4.1). **Proof of (ii)** Writing k for  $C(q)C^2(q^2)$ , we obtain from (3.9)

$$\begin{split} k(q) \left(\frac{1-k/B(q)}{1+k/B(q)}\right)^2 &= C(q)C^2(q^2) \frac{\left[1 - \frac{G_1^2(q)H_1(q^2) - G_1(q^2)H_1^2(q)}{G_1^2(q)H_1(q^2) + G_1(q^2)H_1^2(q)}\right]^2}{\left[1 + \frac{G_1^2(q)H_1(q^2) - G_1(q^2)H_1^2(q)}{G_1^2(q)H_1(q^2) + G_1(q^2)H_1^2(q)}\right]^2} \\ &= C(q)C^2(q^2) \left[\frac{2G_1(q^2)H_1^2(q)}{2G_1^2(q)H_1(q^2)}\right]^2 \\ &= C(q)C^2(q^2) \left[\frac{C^2(q)}{C(q^2)}\right]^2 \\ &= C(q)C^2(q^2) \left[\frac{C^2(q)}{C(q^2)}\right]^2 \\ &= C^5(q), \end{split}$$

which proves (4.2). **Proof of (iii)** 

$$B(q)\frac{1}{u^{2}v} - \frac{1}{B(q)}u^{2}v$$

$$= \frac{G_{1}^{2}(q)H_{1}(q^{2}) + H_{1}^{2}(q)G_{1}(q^{2})}{G_{1}^{2}(q)H_{1}(q^{2}) - H_{1}^{2}(q)G_{1}(q^{2})} - \frac{G_{1}^{2}(q)H_{1}(q^{2}) - H_{1}^{2}(q)G_{1}(q^{2})}{G_{1}^{2}(q)H_{1}(q^{2}) + H_{1}^{2}(q)G_{1}(q^{2})}$$

$$= \frac{\left[G_{1}^{2}(q)H_{1}(q^{2}) + H_{1}^{2}(q)G_{1}(q^{2})\right]^{2} - \left[G_{1}^{2}(q)H_{1}(q^{2}) - H_{1}^{2}(q)G_{1}(q^{2})\right]^{2}}{\left[G_{1}^{2}(q)H_{1}(q^{2}) - H_{1}^{2}(q)G_{1}(q^{2})\right]\left[G_{1}^{2}(q)H_{1}(q^{2}) + H_{1}^{2}(q)G_{1}(q^{2})\right]}$$

$$= \frac{4G_{1}^{2}(q)H_{1}^{2}(q)G_{1}(q^{2})H_{1}(q^{2})}{\left[2qj^{2}(q,q^{8})G_{1}(q)H_{1}(q)G_{1}(q^{2})H_{1}^{2}(q^{2})\right]\left[\frac{2(-q^{4};q^{4})_{\infty}^{4}j^{2}(q^{3};q^{8})}{(-q;q)_{\infty}}G_{1}^{2}(q)G_{1}^{3}(q^{2})\right]}$$

$$= \frac{(-q;q)_{\infty}}{q(-q^{4};q^{4})_{\infty}^{4}j^{2}(q,q^{8})j^{2}(q^{3};q^{8})}G_{1}^{2}(q)G_{1}^{2}(q^{2})G_{1}(q^{2})H_{1}(q^{2})}.$$
(4.4)

Now

$$G_1(q)H_1(q) = \frac{1}{(q;q)_{\infty}(q^2;q^2)_{\infty}},$$
(4.5)

$$G_1(q)G_1(q^2) = \frac{1}{(q;q)_{\infty}(q^8;q^8)_{\infty}}$$
(4.6)

and

152

$$j(q, q^8)j(q^3, q^8) = (q; q^2)_{\infty}(q^8; q^8)_{\infty}^2.$$
(4.7)

Putting the values from (4.5), (4.6) and (4.7) in (4.4), we get

$$B(q)\frac{1}{u^2v} - \frac{1}{B(q)}u^2v = \frac{\chi(-q^2)\chi^6(-q^4)}{q\chi^2(-q)},$$

which proves (4.3).

### 5. Generalized Lambert Series

Series of the form

$$\sum_{-\infty}^{\infty} (-1)^{\epsilon n} q^{\lambda n^2} R(q^n),$$

where  $\epsilon = 0$  or 1,  $\lambda > 0$  and R(x) is a rational function of x, is called a generalized Lambert series.

In [6] we proved two identities

$$\sum_{n=0}^{\infty} \frac{q^{in}}{1-q^{4n+i}} = \sum_{n=0}^{\infty} q^{4n^2+2in} \frac{1+q^{4n+i}}{1-q^{4n+i}},$$
(5.1)

where  $0 < i \le 3$  and

$$\sum_{n=-\infty}^{\infty} \frac{q^{in}}{1-q^{4n+i}} = \frac{(q^4; q^4)_{\infty}^2 (q^{2i}; q^4)_{\infty} (q^{4-2i}; q^4)_{\infty}}{(q^{4-i}; q^4)_{\infty}^2 (q^i; q^4)_{\infty}^2},$$
(5.2)

where  $0 < i \leq 3, i \neq 2$ .

This (5.2) can be generalized to

$$\sum_{n=-\infty}^{\infty} \frac{q^{in}}{1-q^{4n+j}} = \frac{(q^4; q^4)_{\infty}^2 (q^{i+j}; q^4)_{\infty} (q^{4-i-i}; q^4)_{\infty}}{(q^j; q^4)_{\infty} (q^{4-j}; q^4)_{\infty} (q^{i}; q^4)_{\infty} (q^{4-i}; q^4)_{\infty}},$$
(5.3)

where  $0 < i \le 3, 0 < j \le 3$  and  $i + j \ne 4$ .

The proof (5.2) and (5.3) depends on the summation formula of Ramanujan:

$${}_{1}\psi_{1}(a;b;q,z) = \sum_{n=-\infty}^{\infty} \frac{(a;q)_{n}}{(b;q)_{n}} z^{n} = \frac{(b/a;q)_{\infty}(az;q)_{\infty}(q/az;q)_{\infty}(q;q)_{\infty}}{(q/a;q)_{\infty}(b/az;q)_{\infty}(b;q)_{\infty}(z;q)_{\infty}}.$$
 (5.4)

We now prove Lambert series for  $G_1(q)$ ,  $H_1(q)$  and C(q). We recall the definition of  $G_1(q)$  and  $H_1(q)$  given in (1.8) and (1.9):

$$G_1(q) = \frac{1}{(q;q)_{\infty}(q^3;q^4)_{\infty}(q^4;q^4)_{\infty}}$$

and

$$H_1(q) = \frac{1}{(q^2; q^4)^2_{\infty}(q^4; q^4)_{\infty}}$$

We list identities for  $G_1(q)$  and  $H_1(q)$  below and after each identity list the specialization of (5.2) and (5.3) in brackets:

$$(q^4; q^4)^3_{\infty} H_1(q) = \sum_{n=-\infty}^{\infty} \frac{q^n}{1 - q^{4n+2}}$$
(5.5)

(i = 1, j = 2 in (5.3)).

$$(q^4; q^4)^3_{\infty} \frac{G_1^2(q)}{H_1(q)} = \sum_{n=-\infty}^{\infty} \frac{q^n}{1 - q^{4n+1}}$$
(5.6)

(i = 1 in (5.2)).

$$(q^4; q^4)^3_{\infty} H_1(q) = \sum_{n=-\infty}^{\infty} \frac{q^{2n}}{1 - q^{4n+1}}$$
(5.7)

(i = 2, j = 1 in (5.3)).

$$(q^2; q^2)^2_{\infty}(q^4; q^4)^2_{\infty} G_1^2(q) = \sum_{n=-\infty}^{\infty} \frac{q^n}{1 - q^{4n+1}}$$
(5.8)

(i = 1 in (5.2)).

$$(q^4; q^4)^3_{\infty} \frac{G_1^2(q)}{H_1(q)} = \sum_{n=-\infty}^{\infty} q^{4n^2+2n} \frac{1+q^{4n+1}}{1-q^{4n+1}}$$
(5.9)

(i = 1 in (5.1) and using (5.6)).

$$(q^2; q^2)^2_{\infty}(q^4; q^4)^2_{\infty}G_1^2(q) = \sum_{n=-\infty}^{\infty} q^{4n^2+2n} \frac{1+q^{4n+1}}{1-q^{4n+1}}$$
(5.10)

(i = 1 in (5.1) and using (5.8)).

$$C^{2}(q) = \frac{\sum_{n=-\infty}^{\infty} \frac{q^{n}}{1-q^{4n+2}}}{\sum_{n=-\infty}^{\infty} \frac{q^{n}}{1-q^{4n+1}}}$$
(5.11)

(divide (5.5) by (5.6)).

$$C^{2}(q) = \frac{\sum_{n=-\infty}^{\infty} \frac{q^{2n}}{1-q^{4n+1}}}{\sum_{n=-\infty}^{\infty} \frac{q^{n}}{1-q^{4n+1}}}$$
(5.12)

(divide (5.7) by (5.6)).

$$(q^4; q^4)^3_{\infty} G_1(q) = \sum_{n=-\infty}^{\infty} \frac{q^n}{1 - q^{8n+3}}$$
(5.13)

 $(q \to q^2, i = \frac{1}{2}, j = \frac{3}{2}$  in (5.3)).

$$(q^4; q^4)^3_{\infty} H_1(q) = \sum_{n=-\infty}^{\infty} \frac{q^{2n}}{1 - q^{8n+2}}$$
(5.14)

 $(q \to q^2, i = 1 \text{ in } (5.2)).$ 

$$C(q) = \frac{\sum_{n=-\infty}^{\infty} \frac{q^{2n}}{1-q^{8n+2}}}{\sum_{n=-\infty}^{\infty} \frac{q^n}{1-q^{8n+3}}}$$
(5.15)

154

ON MODULAR EQUATIONS AND LAMBERT SERIES FOR A CONTINUED FRACTION OF RAMANUJANS

(divide(5.14) by (5.13)).

Acknowledgments. The authors would like to thank the anonymous referee for his/her comments that helped us improve this article.

### References

- [1] G.E. Andrews and B.C. Berndt, *Ramanujan's Lost Notebook*, Part I, Springer, New York, 2005.
- [2] B. Gordon and R.J. McIntosh, Modular transformations of Ramanujan's fifth and seventh order mock theta functions, *Ramanujan J.* 7(2003), 193-222.
- [3] C. Gugg, Two modular equations for squares of the Rogers-Ramanujan functions with applications, Ramanujan J. 18 (2009), 183-207.
- [4] D. Hickerson, A proof of mock theta conjectures, *Invent. Math.* 94 (1998), 639-660.
- [5] L.J. Slater, Further identities of the Rogers-Ramanujan type, Proc. London Math. Soc.(2) 54(1952), 147-167.
- Bhaskar Srivastava, Some q-Identities associated with Ramanujan's continued fraction, Kodai Math. Journal 24 (2001), 36-41.

BHASKAR SRIVASTAVA

DEPARTMENT OF MATHMATICS AND ASTRONOMY, LUCKNOW UNIVERSITY, LUCKNOW *E-mail address:* bhaskarsrivastav@yahoo.com